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Current moves from a point of high potential energy to one of low
potential. It can only do so if there is a path for it to follow. This path is called
an electric circuit. All circuits contain four elements: a source, a load. a
transmission system and a control.

The source provides the electromotive force. This establishes the
difference in potential which makes current flow possible. The source can be
any device which supplies electrical energy. For example, it may be a generator
or a battery.

The load converts the electrical energy from the source into some other
forms of energy. For instance, a lamp changes electrical energy into light and
heat. The load can be any electrical device.

The transmission system conducts the current round the circuit. Any
conductor can be part of a transmission system. Most systems consist of wires. It
is often possible, however, for the metal frame of a unit to be one section of its
transmission system. For example, the metal chassis of many electrical devices
are used to conduct current. Similarly the body of a car is part of its electrical
transmission system.

The control regulates the current low in the circuit. It may control the
current by limiting it. as does a rheostat, or by interrupting it, as does a switch.
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I} - Reading comprehension:
Answer the following questions according to the text:

A) - Say whether the following statements are : True/ False /Not mentioned (2 pts)

1) - Transmission systems must CONSiSt Wires......................
2Y- Arheostat mavbeusedasacontrol..............ooo
3) - Variable resistor varies the current in a circuit................
1) - A difference in potential is required before current can flow in a circuit...........o...ooe..

B)- Answer the following questions: (3pts)

1)~ Give a suitable title to the fext.

1I) - Lexis:

A)-Find in the text words that are similar in meaning to the following: (1,5 pts)

- Flows:
-Controls: B
-Changes: ..............

B} - Find in the text words thatl are opposite in meaning to the following: (1,5 pts)
ATHAW 8 s pmpomispmppe s

- Continuing: ..............
-Gloom ;oo

II1- Syntax:

A)-Give the correct form to the verbs between brackets: (2 pts)
I- Jane ......... (not / drink ) tea very often.
2« Idon’t understand this word. What ......_.. (this word ' mean)?
3- What ............. { you ;do)?

4- Tstill don’t know whatto do. IT............. ( not / decide ) yet.



B) - Fill in been or gone: (1,5 pts)

1) - Hello! T've just ......... to the store. Look all the things I've bought.
2) - Jane isn’t here at the moment. She’s ......... to the store.
3) - Tom is back from his vacation. He has ............ to Italy.

IV- Give the appropriate title to following figure and specify the names of its different
parts:( 2pts)

V)-Translate into French the following terms:

- Switch (0,3pt): oo —Path (1pt) tooviviiiminninees

—Load (IP): «ooiviiirmnirinees ~cancel (0,5pt) .o

- frame (1P, ooooornieeens -Flashlight {1pt) tooooovevininnne

-copper wires (1pt). .....ooeinnen — converted (0,5p0)i..ooiiiis
All the best,

your teachers.
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I) - Reading comprehension:
Answer the following questions according to the text:

A) - Say whether the following statements are : True/ False /Not mentioned (2 pts)

1) - Transmission systems must consist wires. .. F‘ajz\-,: .....
2) - A rheostat may be used as a control.. T-Ml.-f. ...........

3) - Variable resistor varies the current in a cmun‘we}r mmg

1) - A difference in potential is required before current can flow in a circuit... TM&L .
B)- Answer the following questions: (3pts)

1) - Give a suitablg title to the text.

2) - Quote the different elements of any electric circuit.

- Dramsantesion. Sayplen —sadnel . dasad...

3) - What doeg the source pl rovide?
ST - M B oimiriomss ciomsm e A TN B, S Lo ST

II) = Lexis:

A)-Find in the text words that are similar in meaning to the following: (1,5 pts)

- Flows: .mgigh,

-Controls: Al

-Changes: &g e;d:g

B) - Find in the text words that are opposite in meaning to the following: (1,5 pts)
-Low : ... 'emcai\ -
- Continuin mwxﬂ
-Gloom : .fm&&?v

I1I- Syntax:
A)-Give the correct form to the verbs between brackets: (2 pts)
1- Jane....... (not / drink ) tea very often.
Ao b '
2- Idon t Untlbl"ﬂdntl this word. What ....... .. (this word . mean)?
Ages Hha wi\d mean
3- What y..oen. { you «do)?
A& Y e
4 Tstill don't know whattodo. T............. ( not / decide ) yet.

Vot wek~ Agelde



B) - Fill in been or gone: (1,5 pts)

1) - Hello! I've just \aﬁﬁm_ to the store. Look all the things I've bought.
2) - Jane isn’t here at the moment. She’s Wo the store.

3) - Tom is back from his vacation. He has ..lpf.em..to Ttaly.

IV- Give the appropriate title to following figure and specify the names of its different
parts:( 2pts)

\ord o)

V)-Translate into French the following terms:

- Switch (0,5pt): L«.»j:,M?\lmFtﬂM/\ — Path (1pt) &IWCW)
- Load (1pt): ,C.c.\ an %,2 . -cancel (0,5pt):.. MM
-ﬁ'ame(lpt):‘c,&c\&%!;s.. -Flashlight (1pt) W-@ :

-copper wires (1pt): 8\1,\% AR — converted (O,Spt):\wm&,xe&t .

All the best,
your teachers.





